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Directions (106-110) : In the following question, you
have one brief passage with 5 questions. Read the
passage carefully and choose teh best answer to
each question out of the four alternatives.

Although Indians spend less money on allopathic
medicines than people in most Asian Countries, more
than 40,000 drug fromulations are available here. All
mamufacturs are required by law to provide informa-
tion about their product either on the packaging or in
a pamphlet inside. But, in many cases, this informa-
tion is very meagre and hard to understand. Many
doctors, too do not tell their patients anything about
the drugs they prescribe

What should we be concerned about when we take
drugs ? There are two areas : (1) Side effects. Many
people taking a drug will notice an undesirable
reaction, usually minor. But even the midlest drugs



can do harm if taken improperly, long enough or in
excessive doses. And everyone responds to a drug
diferently. (2) Failure to follow directions. Many of
disobey prescription instructions on how much to
take and when. It is easy to fail into thinking that
more of the drug will speed up the healing. It is more
common, however for people to stop taking a drug
when they begin in feel better. This, too, can be
dangerous.

106)Which one of the following statements are true ?

1) Indians use more than 40,000 allopathic drugs.
2) Indians hate allopathic medicines

3) Other Asian countries do not have allopathic
medicines

4) Indians cannot afford allopathic drugs

107)How are drugs users to be instructed by the manu-

factures?

1) Doctors should give a manual instruction

2) The chemist should issue an instruction manual.
3) Information should be printed on the carton or in a
pamphlet kept inside it.

4) Patients should keep in touch with drug manufac-
turers.

108)Only one of the following sentences is right Idetify it.

1) All medicines produce reactions of various degree
in their users

2) Even mild drugs are not always safe.

3) Medicines should be discontinued as soon as we
feel better.

4) More than the prescribed dose brings quicker
recovery

109)Drug manufacturers

1) do not given instructions

2) give all instructions necessary

3) give very little and unintelligible information
4) given information only when asked.

110)Which one of the following is true?

1) Throw away the drug that produces side effects
and try another

2) Drugs may be taken with all kinds of foods.

3) Drugs do not inhibit our normal life style.

4) Drugs should be used only according to prescrip-
tion

Directions (111-115) : In the following question,
sentences are given with blanks to be filled in with an
appropriate word(s). Four alternatives are suggested
for each question. Choose the correct alternative out
of the four.

111)The explosion that the bus killed twelve

people.

1) wrecked
2) deflated
3) stalled
4) hindered

112)There was some between the member's
version and the committee's version.
1) discourse
2) discrepancy
3) certainty
4) recurrence

113)We have talked a lot : now let us to work.
1) get down 2) set off
3) take off 4) sit up
114)The life guard would not let the children at the
deep end of the pool.
1) swims 2) swim
3) swam 4) to swim
115)The audience watched the clowns their act

1) performs
3) performed

2) perform
4) are perfoming

Directions (116-120) : In the following questions, out

of the four alternatives, choose the one which best
expresses the meaning of the given word.

116)Savour
1) Taste 2) Protector
3) Sour 4) Flavour
117)Rivalled
1) Hatred 2) Revised

3) Competed

118) Trimming

4) Contradicted

1) Skimming 2) Arranging

3) Planning 4) Cutting
119)Pester

1) Annoy 2) Insect

3) Upset 4) Paste
120)Disparty

1) Disseminate 2) Difference

3) Discord 4) Difficulty

Directions (121-125) : In the following questions,
choose the word opposite in meaning to the given

word.
121)Meagre

1) Numerous 2) Large

3) Plentiful 4) Enormous
122)Professional

1) Amateur 2) Tradesman

3) Labour 4) Customer
123)Scarcity

1) Scanty 2) Prosperity

3) Majority 4) Plenty
124)Stale

1) Fresh 2) Old

3) Steal 4) Stalk
125)Vacate

1) Evacuate 2) Validate

3) Occupy 4) Empty



Directions (126-130) : In the following questions,
Four alternatives are given for the idiom / phrase
printed in bold in teh sentence. Choose the alterna-
tive which best expresses the meaning of the idiom/
phrase

126) The manager doctored the accounts of the com-
pany.
1) to make changes in account books
2) to clear the docter bhill
3) to verify the accounts in detail
4) to manipulate the accounts

127)She could never measure up to her parent expecta-
tion
1) reach the level
2) work as hard
3) assess the amount
4) increase her height

128)The little girl with her flawless performance stole the
show.
1) stole something from the show
2) crept into the show
3) won everybody praise
4) discppeared from the show

129)The thief was on good terms with the police
1) kept terms and conditions
2) was friendly
3) followed the rules
4) agreed with them

130)John's offer to help was turned down by the police.
1) sent back
2) twisted around
3) refused
4) handed over

131)4 : 5. 39%)868 oaéxeacﬁoeés A, B, & T3R8
PFrEow. 8 Soo SHE, 5 aéwwcﬁzéoés—:éoéa
A a%%000S B e 85 Saroddos’ - 1 Soik
EJ0HTH. 10 Srare wodbo zszg)zs Rs. 760.
Pos® A soer
1) Rs. 330
3) Rs. 380

2) Rs. 360
4) Rs. 430

132)@6@5&5068—8’30& 3°e7°§0% Aﬁéoéa S ST
—éoéz odn S8% B—éoé: SrodTR), Ivdo
S°e5°20§ ) 3))55"533‘&2(5@3& JdoEron. Iwdo o
Rs. 4600, ©&° B apew :
1) Rs. 650
3) Rs. 960

2) Rs. 800
4) Rs. 1000

133)e.8 58 (Hch&E A, B, C eo Solmeds
Qfowowto 6 Sered Rs.6500 A, 5 Sereod Rs.
8400 B, 3 Srxreo® Rs. 10,000 C, ?Qé.;awea& 3;%36"?0%
o oot 5% A g0 8ROV s
820553 Do, IS Iwgo ergo Rs. 7400. & B
PE® :

1) Rs. 1900
3) Rs. 2800

2) Rs. 2660
4) Rs. 2840

134)A 85 aerm Rs. 10,000 2e3é&8° A, B, C e
TS R Ewedirgh 3wdo orgo Rs. 1000 &t
Rs. 500, A &, Rs. 300 B &, $3, C &wrodio
1) Rs. 4000 2) Rs. 5000
3) Rs. 6000 4) Rs. 9000

135) &oseeatrtotd Een 15/~ Sen 20 B.8.0 SPHpS ot
Sro Sdpos O 8 O ARBS® 500T MBS
8% 8.2.8 Srn 16.50 wHod

1)3:7 2)5:7  3)7:3 4)7:5

136) &en 7.20, i 5.70 S.2. S Sotd Ssre ke
TR &I O JYBS° 50T MBS0 8 Ern
16.50/ 8.2, ©H&Hod?
1)1:3
3)3:4

2)2:3
H4:5

137)6— % Ben S.|. & Srn 16,800 6 wden 9 Ivos’
aoé S8 oraigdod?
1) Rs. 787.50
3) Rs. 860

2) Rs. 812.50
4) Rs. 887.50

138) &r0) 9, 2009 S0 H 21, 2003 S8 7—% Bew
& Srn 1820 wden S..
1) Rs. 22.50
3) Rs. 28.80

2) Rs. 27.30
4) Rs. 29

139)4% S.l. éw?‘* 8% Grn 5000 ok SHEQ Joed
© apie 6% S.I. 8 aoEas el v, &
o 5235?.’356058 O8NS HINS orgfn

1) Rs. 112.50 2) Rs. 125

3) Rs. 150 4) Rs. 167.50
140)4.5% p.a. S.I. & Srn 450 eben P Sen 81 e

éué.n" SPotserR8 oa§ o0

1) 3.5 years 2) 4 years

3) 4.5 years 4) 5 years

141)Albert ersos® &, 8000 &arae T 2 Ho.o
5%p.a. Ben&® &od C.1.8° Imdo, o 808 Soxs
Q0E?
1) Rs. 8600
3) Rs. 8800
5) None of these

2) Rs. 8620
4) Rs. 8840

142)8». 250003 3 $o.0% 12% p.a.& &3 C.I.
1) Rs. 9000.30 2) Rs. 9720
3) Rs. 10123.20 4) Rs. 10483.20
5) None of these



143)8. 20,480 2 2 So. 73 o 6 1% p.a &

@cﬁq‘g C.l:
1) Rs. 2929 2) Rs. 3000
3) Rs. 3131 4) Rs. 3636

144)e.5t Hos8Trostod® &% o B8 &r. 200 B8
Bos&BEw 5% C.I. & ol aFi. 3 So.0 Ehad
ST Do ©HHoh?
1) Rs. 565.25
3) Rs. 635

2) Rs. 635
4) Rs. 666.50

145)Sam &». 15,000 1 $o.arén Bepnd DR @38 ©F
BoX&T08 éé 0% Dbore @&:23 C.l. Jo. D58
o8 &% ﬁ"oc‘.ﬁ:@%ﬁ ?
1) Rs. 16,500
3) Rs. 16,537,50
5) None of these

2) Rs. 16,525,50
4) Rs. 18,150

146)10 SFeros® A TD B, 15 Sered® B I HZEr
5% o HIV Y ereos® Trs?
1) 5 days 2) 6 days
3) 8 days 4) 9 days

147)18 Seros® A B3 &, B dKo Sered®S &8
Dodhiriots. TYHLEr K02 STy, o8 e Jog B

?
@é)léao& 7 1
)6 2) 9
3)2 4) 2
5 7

148)e.8% 2.8 HAQ 15 Slered® B, 080 Bo88 wodd
20 Seren D, 082 508 TwoH 25 Serost
BPo. woBsr 50 & B Q) Seros® I?

1) Less than 6 days 2) Exactly 6 days
3) Approximately 6.4 days 4) More than 10 days

149)e.8 HQE* éoé: 10 583?@58 X Bchitfed. 40
Sereos® Y 40% %99, L So% ¥ Z 13 Ferosth
B, 08° 5 Koo HJ Fre Babifeds?
1) X 2)Y
3z 4) X and Z both

150)88:5m 20, 30 Q.08° Totd Pepen A, B a8 &r508
QoHKeD). Bolod 2330 &S, 508 Qokneds
é§ Podn ?
1) 12 min 2) 15 min

3) 25 min  4) 50 min

151)e8 &85 4 fo.08 a8 ko JoHdod. HF
Pgso 9 fo.o8® AR 9 Biod. Toth Meped
280 80T, FHIoUTS BT $hocho?
1) 4.5 hrs 2)5 hrs 3)6.5hrs 4)7.2hrs

152)59 98 $8% 10% 38048 2O 20% orgo
SQod. BWRES 20% ™ TPY erFTdo:

2 1
1)63% 2) T %
1 1
3125 % 4)13 3%

153)8m. 17, 940 % TV. set & 8% &J0e58" oy
TR0 19.6% ergo Powrtd. &I % 'a&ésé@sg
08D TPPESW
1) 24.8% 2) 25% 3) 26.4%
4) Cannot be determined 5) None of these

154)e. 8988 . 45 50 25 ShHod Fg=re 10%
&ﬁ‘&oéﬁéﬁ oy 50% o Fomh. &Foes vl
FE, 0B erSsm:

1) 60% 2) 60%% 3) 66%
4) 66%% 5) None of these

155)7‘55?.3 &) $8 5% &3‘20&558 oseeatrdath aSYE)
DS G, 226 H i, &S S XEHB
©828 CP. 3 12% orgo T8, 8 H8 C.P.:
1) Rs. 240 2) Rs. 260 3) Rs. 280
4) Data inadequate 5) None of these

156)e.8 B0, &0 sibe DeosS’ o oot e (in-
sure) B, 1.3% Send® &P Bwcdho Rs. 910,
©ond, BoF wdwn Jend Jos?

1) Rs. 78,500 2) Rs. 80,000
3) Rs. 82,500 4) Rs. 87,500

157)G5gasdoko 5:53;@0{5&068 15% $ibde & o8 ddo
30 oo Ly B AHHd Bodhiteon. ©d
SbaBosted® 10% Shibte SrE «of 40 ofo
3ot AHHd BchiOAE, v ddo &' Wk
Doty &S :
1) 20 lakh tons
3) 200 lakh tons

2) 80 lakh tons
4) 800 lakh tons

158)A msoess Qséaééés Rogo SesBond @aﬁs&e& 6%
Kood @@éiﬁ: @"ow"d} B U%qo &* ©od ‘ooa;gé‘s
e—oaﬁé&w a’ssaéa’)m ot 7% K00l oD OS50,
A %ol B & 80 H08 wo¥orr Jod¥ VHB, (HS

@0938 o8 Kook @afagége» Shezasrgdd ?
1) 7600 2) 8000
3) 8400 4) Data inadequate

159)e.8 Hol§ Fhde (Bg Hobhde o 603cn 630
B0 Sol@ Hchdo, SH o 5 e wolkod. 6
Jon Ehared S S
1) 12 years 2) 14 years 3) 18 years 4) 20 years

160)A, B © 3wgo 305, © Iwdo Ik, B, Co
Joe Iwgo o8 12 Do AENS. A o8 C Y
Son DF) ?

1) 12
3) Cis elder than A
5) None of these

2) 24
4) Data inadequate

161)a.8 260%263 4 éf;\o:‘b 6 e;°ﬁ'§,
8o 5 & ARy BT $Oo
1) 91 210,
3)10_L °1 4) 1tz
5) Norie of these

$O&0 8. 26033526: 2



162)e.8 SEprHE’ ©oiodA=e Hifen 8o Rs. 8000. 7
B 2oy Bifen £8o Rs. 12000; oifee T8HHeD
£80 Rs. 6000. $8xrH8%0 Iwdo HIT0 Hosy:

1) 20 2) 21 3) 22 4) 23

163)600 Dregdoeny Smes® arend Sifen Sakid 12 Hon
; ePDSe difen 11 Bon ; oS Bz Bifew Sk
11 Hon 9 Fow wond, FOEe Qogy :

1) 150 2) 250 3) 350 4) 450

164).8 =% S)c:‘gt%e: Rifen S0 15.8 Son erend
[ijen S 16.4 HBon erdBe Jdifen 15.4 Ko @re,
EATIIIO) 26035‘3 DY :
1)1:2 2)2:3

3)3:4 4)3:5

165)%8)5% IFLens Ko ({rd SKen S 16 Son
Bifen S &F) 20 Hod FE B (IS’ Tko
So elifrd Sifen S 15.5 Hon wowod. st
2888 IPLodS (st e Logg:

15 2) 10 3) 20 4) 30

166) $8508® % éacﬁyss, ool of8ires® o % o8
DEPRHR éospegés OETP &) ) e wgoeen ‘K IN D
NESS ol $5&0s® ammyon?

1) 358 2)1 3)2 43

167) &.8 S56&® 1362 % MRTP e 45789 & NACIK e (5,
328 PRAJT % S&m (e ?

1) 23584 2) 23587
3) 23586 4) 23589

168) GO = 32, SHE = 49 wo»d, SOME = ?
1) 562) 58 3) 62 4) 64

169) &.8 S°& (H=o8sn PROBLEM & MPERLOB v (&%, ©&
288 NUMBERS® Qer (@aRs?

1) SNUREMB 2) SNRUBME
3) SNRUEMB 4) SNRUMEB

170) In a certain code ‘ mat su ta’ means ‘Flowers are
beautiful’, ‘su dip lad’ means ‘delicate and beauti-
ful’, and ‘wo dip ta’ means ‘leaves and flowers’.
What is the code for ‘delicate’ ?

1) su 2) dip 3) lad
4) Cannot betermined

171) BenHdo Jodn o, Josnd D v, D% ESTOR)
), $PDHD BB o, SHHH S0 o, SenHo
Ssmedoih o), SsTedoihd S0 Yo ol wod, SrdH
o) €S Soid
1) QB 2) &85
3) HoHBord 4) &stedoihd

172) éooiﬁoﬁ?é P X0 g ?

1) 2D 2) &
3) HdoExE8ee 8 4) J50(e35m

173) Computer : fgprxvht : : Language ?

2) ocqicyig

4) ocqixcig

1) oxpixdig
3) ocqgixcjg

174)1) USUAL 2) USAGE

3) URINE 4) UKASE
175)1) UQMJ 2) ZVRN

3) SOKG 4) TLPH
176)1) 65 2) 145

3) 37 4) 323
177)1, 2, 6, 24, (?)

1) 60 2) 95 3)120  4) 150
178)W, V, T, S, Q,P,N,M ?,?

13,1 2) 1,3 3)J, K 4)K,J
179)a u_cuae _a u_fua_

A) auabad B) daubaa

C) dcuaab D) bbaadu

180)1 9 4 16 9 25

25 36 Y

(1) 47 (2) 49 (3) 57 (4) 50
181) (58 BE0TPHENSY wose g wprdorr, Hoggeid
05855 L_éfné:a@ @:5;6"5_\3, » Vo2 DB0waHSE» 5;(5568

Hotnod?

123, 345, 567, 789, 914, 234, 456,

1) 234 2) 567 3) 345
4) 914

182)If A stands for ‘+’, B stands for ‘*-’, C stands for
‘X"then the value of (100C4)A(4C4)B6="7
1) 60 2) 56
3) 50 4) 46

183) 885 agsorr 20 . 389, HAJH 80A 30 L. SA&ATD.
E6hard HAIH 80A 35 L. SEVT. ANEHZH 884 15
. 380 BBe EHFH 800 15 L. SEITL. I8 DS
(BEE5n 08 Dodsrssn, MBIt e ?

1) Hesre 15 . 2) ey 30 .
3) HEsT 30 . 4) Srdye 45 So.

184) 835 wo® %08 vy &'58 15 8.%. Igmys. SHd
HEHE FH 80A 10 8.5, (HoSrRoDTE. SHard B
8gym 5 &.5., 288 Er8y &gy 10 &. 5.
BirBodmed. &5 208 Ho& §¥87 § 8¢ e ?

1) &r8) 2) HeES
3) G885 4) &§easin

185) 2.8 ©Lmond Srdlr ofH8 age wotrd “& olmon
Eol& B JBE Bozedtn Sy Erstd” 0 HE TE &
oiman s ?

1) e 2) 58
3) 2y o 1Sy 4) A6

186) 2.8 H580 SrOET a8 (§ ver wotwod ‘i 89 Sr $9
¥ B HETT” wer wevsod § © K88 JPHs ?
1) 5& 2) oy 3) Fs6  4) Erhhd



187 ‘@5’@ Qesdd 14X Trth. Swothdrod, IHBod =2nS
175 oo, 8 Dad®H 5D K Hod. Judd =8
o8 $00dH Hod, §J°§és 48 £o0b Sgheo Ho8, e,
=88 DGy QoBod Sghen PHotrdd ?
1s 27 36 4) 5

188) $rB Gy EoB 28, Harieb 088 KoB EB. TEDS
8y ol 1LH . 55056 B0 2. oBES
%) Bigeasin D6 ?

1) &3 2) &l
3) b6 4) 288

189) 0% G 4 I T Bod IrBads. Sonth 65

odZoporr HX) Soxds & ?

(i) (i) (iii) (iv)
N1 22 3)4 A5

190) $8)35, %8yes, 533»%‘@ SoFsie Jomorrl) BIHIHY @
QS Wredod ?

%)©O.OO

191) 1) 15 2) 16

3) 17 4) 18 \/

192) 2.8 §°8 2.8 ot I griios® 30 wbiber 28), FodH
EPod Eddotnod. B 20 wbibes Bodd HhEod.
Soder 2F°E Kot Fdd o’ Ko InterBiod.
B abhihod. werobid i o 558 adabo 8
fones ko Fntenndd, 120 ©bibe dHS® &) Bowed
ER8 od Jooho HKod ?

1) 4 PM 2)5 PM

J6PM Hdbem L.,
Pllellef? ]l | Rl
Sl 2 ) O v )

195)1, 2, 6, 24, 120, (?)
1) 600 2) 635 3) 720  4) 840
196) 11, 10, (?), 100, 1001, 1000, 10001
1) 101 2) 110 3) 111  4) 1101
197)W.V, T,S,Q,P,N, M, ?,?
I 2)1,J 3K  HK,J
198)B.E, I, N, T, ?
DR 2)S 3)U 4)A
199)CONTEST @é&?& FRQUHVW eo»d, STU-
DENT %6 o ?
1) VWXGHQW  2) VUXEHPU
3) UVWEGQV 4) UXWGHOU

200)8cd &S° D& OH oo = ?

1) 700

2) 800

3) 1200 4) 2000



1) 3
7) 4
13) 1
19) 1
25) 1
31)2
37) 4
43) 1
49) 4
55) 3
61) 3
67) 1
73) 4
79) 3
85) 4
91) 4
97) 1
103) 1
109) 3
115) 2
121) 3
127) 1
133) 2
139) 1
145) 3
151) 4
157) 3
163) 1
169) 3
175) 1
181) 4
187) 3
193) 2
199) 1

2) 4
8) 2
14) 4
20) 2
26) 3
32)2
38) 4
44) 4
50) 3
56) 1
62) 4
68) 2
74) 1
80) 4
86) 1
92) 3
98) 2
104) 1
110) 4
116) 1
122) 1
128) 3
134) 2
140) 2
146) 2
152) 1
158) 2
164) 2
170) 3
176) 4
182) 3
188) 4
194) 2
200) 4

2330°200
3)1 4) 2
9)4 10) 3
15)2  16)2
21)2  22)2
27)1  28)4
33)2 34)3
39)1  40)4
45)4  46) 4
51)1  52)1
57)3  58)4
63)3  64)2
69)1 70)1
75)4  76)2
8l)4 822
87)2 88)1
93)2  94)4
99)4  100) 2
105) 2 106) 1
1)1 112)2
117)3  118) 4
123)4 124)1
129)2 130) 3
135)3  136) 2
141)5 142) 3
147)1 148) 3
153)5 154) 4
159) 4 160) 1
165)3 166) 3
171) 3 172) 3
177)3  178)4
183)4 184) 3
189)3  190) 3
195)3 196) 1

5) 1
11) 3
17) 3
23) 4
29) 2
35) 4
41) 1
47) 4
53) 3
59) 2
65) 2
71) 1
77) 3
83) 2
89) 3
95) 1
101) 3
107) 3
113) 4
119) 1
125) 3
131) 1
137) 1
143) 1
149) 3
155) 5
161) 2
167) 3
173) 3
179) 2
185) 1
191) 3
197) 4

6) 2
12) 4
18) 4
24) 2
30) 4
36) 1
42) 3
48) 2
54) 1
60) 2
66) 3
72) 2
78) 2
84) 1
90) 1
96) 3
102) 4
108) 2
114) 2
120) 2
126) 4
132) 2
138) 2
144) 3
150) 1
156) 4
162) 2
168) 1
174) 1
180) 2
186) 1
192) 3
198) 4

QSBeaen

131) A:B= [4xx3+(4x-£1T X4x) X 7] : [5X-% X 5X) X 7]
= (12x + 21x) : (15x + 28x) = 33x : 43x = 33 : 43.
& A's share = Rs. (760x% = Rs. 330.
132) B L2080 +Jowm A;Rs. 52enel 50w
B, ézéoé:wtig)& 9508,

Cinvests[x - (% %)] ie., Rs.%for y months.

1 1 1
=36 ' 9 2 - dmis
B = Rs. (4600 X g ) = Rs. 800.
133) ddgees AvPo A BB = 5% of Rs. 7400
= Rs. 370.

35850 = Rs. (7400 - 370) = Rs. 7030.
egado @ = (6500 x 6) : (8400x5) : (10000 X 3)
= 39000 : 42000 : 30000 = 13 : 14 : 10.

~.B a®¢r = Rs. (7030 x%_‘?‘ = Rs. 2660.

134) A:B:C=500:300:200=5:3:2.
Let their capitals be 5%, 3x and 2x respectively.
Then, 5x = 10000 <« x=2000.
.. C's capital = 2x = Rs. 4000.
135) By the rule of alligation :

Cost of 1 kg pulses of 1st kind  Cost of 1 kg pulses of 2st kind
Rs. 15 Rs. 20

\ Mean price /
/ Rs. 16.50\
350 1.50

.« Required ratio =3.50:1.50=35:15=7: 3.

136) By the rule of alligation :

Cost of 1 kg rice of 1st kind Cost of 1 kg rice of 2st kind

720p 570 p
\Mean price /
/ o \
60 90

.« Required ratio=60:90=2: 3.



137) Time = 9 months :% yeatr.
25

3
e S.I.=Rs. [16800 x — R xm]—Rs 784.50.

138) Time = (22 + 30 + 21) days = 73 days :? year.

15 —
oo S.I.=Rs.[1820 x == > 100] Rs. 27.30.
ini - 25 2\ (5000x4x2)
139)Gain in 2 yrs. = Rs.[(SOOO X ZX 100,-( 100 ]

= Rs.(652 - 400) = Rs. 225.

225 ) =

J.Gainin 1 year = Rs. (££= Rs. 112.50.

140)Time = (%) years = 4 years.

5
141)Amount = Rs. (8000X(1+ 100 )2)

21

Rs. (8000x 5o X 2

142)Amount = Rs. (25000X(1+ 100 ) )
28, 28,28
Rs. (25000x_xfx oc )
= Rs. 35123.20

o C.I. = Rs. (35123.20 - 25000) = Rs. 10123.20.

ime = 273 _o 1
143)Time =2 —— 365 years = 2 5 Years.

1 25
. _ 25 5x 4
~«Amount = Rs. [20480(1 + % 100) (1+W)]
w17 81y _
= Rs. (20480 = Rs. 23409.
s-( X716 16 16 “80’ ">

& C.I. = Rs. (23409 - 20480) = Rs. 2929.
5 5
144)Amount = Rs. [200(1 +755)° + 200 (1 +70g )? + 200

5

1+ m)]
21 21 21
20 X20 T200 x5

21,21 M} 21
20 20 " 20

21 21 21
=Rs. (ZOOXEXEX 50+ 200 x

= Rs. [200 x <= - -kl

= Rs. 662.02.
145)P = Rs. 15000; R = 10% p.a. = 5% per half-year; T=1
year = 2 half-years.
Amount = Rs.[15000x(1+ 7057
s =Rs. (15000x A xé ) = Rs. 16537.50.

@ao&; Beg 8% 59 ==

146)A 2.8 &% 09 = 15

S(A+B) o el 85&0 3 = ( 10+1—5) =
oo acgéj" 02 6 Seros® $H 33_';63

147)A 2.8 &% HQ = i $08050 B a8 B H =
S (A+B) o a8 8% H2 = (—+%) =%
(L, 1 1. 47
148)50790 2.8 Ber O = ( 5+ 30 *55) 300
Seostr 800 =30 = 6.4 Faves® 50 w8 I,

5 2L Rs. 8820.

149)55°8 $Q X, (10 x 4) = 40 Sewes® Ir.
8 $ Y, (40 x%) = 100 &ered® I3,
Swdo H Z, (13 x 3) = 39 Seres® I,
S Z Sm08re HQ 0 3@%
150)1 Q.6° A QoS grrssm -2—0, 1 .6° B 202
i =5

1 2.8°% (A + B) Qo2 geissm = ( 20 —a+an 30

< Bokre 0% 12 Anest JoHmeom.

151)1 Kond® Dobs VESerrLn = (%_ % =%

GO 5"(‘@ % = 7.2 Konos® Jo&éod.
152)5808 $8 = Rs. 100 098508,
Then, S.P. = Rs. ( 755X 100) = Rs, 90. ezfo= 20%.

5. CP.=Rs. (190 x90) =Rs. 75.

&8 88058 = Rs. 2; 88 S.P. =Rs. 80.

5
& B8 ogfo = (75 x 100)% = 6%%.

153)S.P. = Rs. 17940. (5865 &5 = Rs. X @808,
92 100
100 X = 17940 = x=Rs. (17940 x ‘") = Rs. 19500.

C.P.=Rs. (111%06x 17940) =

Rs. ( 1000 x 17940)
1196
= Rs. 15000.
a5ptd C.P. = Rs. 15000, S.P. = Rs. 19500.

o HeRs ovgmssn = (2290,100)% = 30%
154)1 %% S.P. = Rs. 45, (58 m% S5 &5

= Rs. X @808,
90
100X= 45 = x=Rs. (45X100) Rs. 50.
C.P. = Rs. (—100 4 45) = Rs. 30

150
aQped C.P.=Rs. 30, S.P. =Rs. 50.

20 2
S SPHOND eSSy = (%xloo)% = 663%
155)1 98 S.P. = Rs. 266. (58 98 (©8LS 96
= Rs. X ©58°08,
95 v =266 = x=Rs. (286X100 - Rg 2g0.
100 95
aped S.P. =Rs. 280, S.P. = 12%.

558 D5 SP. =Rs. (10°x280)

=Rs.250.
156)Let the original value of the tempo be Rs. x. Then,
13 1 4

1.3% of 4 of x=910 e—x—x—xx 910

5 10 5
= (910x10x100x5 — §7500.
13x4
157)Let the total production be x lakh tons. Then, 15% of

X - 10% of x = (40 - 30) lakh tons
«5% of x = 10 lakh tons <x = (%10)(5100

= 200 lakh tons.



158)Let the number of candidates appeared from each
state be x.
Then, 7% of x - 6% of x =80 <1 % of x = 80

«Xx =80 x 100 = 8000.
159)Let the present ages of son and father be x and

(60 - X) years respectively.
Then, (60-x)-6=5(x-6) ©54-x=5x-30
< 6Xx=84 < x=14.

<+ Son's age after 6 years = (x + 6) = 20 years.
160) (A+B)-(B+C)=12= A-C=12.
161)Let the numbe be x. Then, Xé4 =8 & X-4=48

< x =52,
0 ﬂ: 52 -2 _
5

oo

50 - 1.

162)Let the total number of workers be x. Then,
8000x - (12000 x 7) + 6000 (x-7) « 2000x = 42000

<X =21,
163)Let the number of girls be x. Then, number of boys =

(600 - X).
Then (11 %x 600) = 11 + 12 (600 - X)
<X =7200 - 7050 « x = 150.
164)Let the ratio be k : 1. Then.

kx16.4+1x154=(k+1)x15.8
< (16.4-15.8) k=(15.8-15.4)« k=20
g 1=2:3.
165)Let the initial number of persons be x. Then,
16x+20x15=15.5=(x+ 20)«<0.5x= 10 « x = 20.
166)KINDNESS =
11, 9I 1|4,

«+Required ratio =

4, 14, 5|, 19, 1|9

0 05008 ede, | - E s08asw N - S

167) 113|6]2] &Bc» [4|5(7|8|9
M|IR|T|P N|A|C|J|K

PRAJT = 23586
168) G+0=20+12=32

S+H+E=8+19+22=49
| S+O+M+E=8+12+14+22=56

169)PR (%B LE M o
=
Hence NUMBERS = SNRUEMB
(i) mat suta — flowers arebeautiful
(i) sudiplad  delicate and beautiful
(ii)wodipta leavesand flowers
From (i) and (ii) su beautiful
From (ii) and (iii) dip
delicae  lad.
171) 5008 B8&w Borh B, 520 DK HoHDHY)
OTNL. BE, BHoYDHY) esaen.

170)

and

172) $ooth GoE) HOSorr WelSen’ &oenod. 9erTy 8o
g WhHEREEes 8 Gotnod.

173) As C f Similarly L 0
0] A c
M p N q
P r G i
U X U X
T v A c
E h G j
R t E g

174)%0i8> @odS® O wgtm HITHBo ST,

175)

CEY BRE
Lithd,

4 -4 -4
176)oise o) éo?’.g)'t’g S spé‘)oe‘é@?é éézﬁw o8 1 aé;gé.

L

65 = (8 + 1 145 = (12)* + 1
37 =(6) + 1 197 = (14)° + 1
but 323 = (18)* - 1
71 2 6 24
NSNS

1x1+12x2+2 6x3+6 24x4+24
WY T SQ PNM® J
Lt
LY. 1 -2 -1 -2 -1 -2 -1
179)adu | acu | aeu | abu | afa | aa
/a appears after two letters.

19), ﬂvz and (2)2\(/4)2

(5)° 6)*

(?</5)2 = 49

(7)?
181)adbS JSPTPoHhInSt ot wose o 6, 12,

18, 24, 14,09 85 15 HAJ e568ren (Edns®
@, 24, 18, 15, 14, 12,9 50805 6 ggs® dogg 14
oS 914
182)Using proper symbols, we get
(10C4)A(4C4)B6=(10x4)+(4x4)-6
=40+16-6
3050 =50

B : c
20 .
A %
35 . F
15 .
D E

15 &».
Ho2d §rddn = AE = 30 + 15 = 45 &
10/3. &.

178)

SrnBdm
AN
184)
5 8.5\
D > E
10 8.%. /N 15 a8,

A
BH 85 vod Hod FBBIS® ety Ko

Beood.



185) o Sol& Go¥) Hozrdsn ol ol @D, o3 e | 197) W, V, T, S, Q. P, N, M, K, J

@é}vécm RS &i»é&é)éﬁ:@. B8, @B wééé@éréow 4 2 a4 2 5 \'2/\'1/\‘2/%/
o) $O. B, E, I N,
s 198)  ° |E1' |Il 1!\1 iT] Al
186) S SO0 JBE HITT  IN. 08 @ @ o HB Do) w5 s w7
8. 199) ONTEST
- - Y n P
187) Qe B el 9% Sge Bomy IR
Il
Qe b ) FRQWH VW
STUDENT
14 8 17 8 17 VWXGH QW
=48 - (14+17) = 17

s BB & 17 Hob8 HFH Hob. EHE, DedHEd
=58 0G50 SgBen = 8.

188) &pi@ > ey > deeird > 28°8

189) (i), (ii) L0080 (iii) Dzre Trgoe 55w NN X
3, 4, 2 B 6,5 H [HEHT S KRS Hotraw. ¥
Soadd 1,5 % w@dSopore Howed. (i), (i) & (iv) dere
oo S BOWKG I 4, 5, 6 HOw 1, 3 B
(™ Hotrow. B Soath 2, 3 H edwgore Hotnod.
a1, 5, &, 2,3 & odlogorr Hotrow. 8, 4, 6
% @S0pore Howed.

190) éaéae», 55350%6‘9 Bore éé&z‘ﬁg, é)éz), BenS =0%.

191) Joendre a8 i) (Beheeen 8

ABF, BFG, BCG, CGH, GHD, B C
GED, EFG and AFE
/ =H,
Bo&d grPrPe
©shepen 5 F .
ABG, BGE, AGE, ABE, GCD

St grrre (Bheen 4
BCD, CDE, BED and BCE
Bodo (Beheren  8+5+4 = 17
192) 1 Kotr&® 88 285 2 = (30-20) = 10 ©. 88 radolo
5 Koo 8% %8 Ko & 90 wdiben 9 Konod®.
E508 JecholBo 6 Ko orEe 30 ©HrHe ENH © &5

8K,
193) Sgen, DHHe Dogy HOIT .88 FYS Q) &) (a-

ternately) Srgs9.
194) Q50 180° 8&rHeod.

195) 1x2=2
2%x3=6
6x4=24
24x5=120
120x6=720
720 23520
196) 1x10=10 10+1=11
10x10=100 100+1=101
100x10=1000 1000+1=1001
1000x10=10000 10000+1=10001




